EXHIBIT B

FEE DETAIL

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 2 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 2

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Case Administration

	C 4 D		
C		235.00	\$47.00
resección (. Speaker	0.20 ms.	233.00	Ψ17.00
Organize file and emails			
Robert C. Maddox	0.30 hrs.	450.00	\$135.00
•	, ,	` / /	
Russell Silberglied	0.40 hrs.	725.00	\$290.00
Email with R. Silberglied re: case in	volvement status	S	
Ann Jerominski	0.10 hrs.	235.00	\$23.50
Russell Silberglied	0.20 hrs.	725.00	\$145.00
reports, depository list and other U.S.	S. Trustee forms		
Russell Silberglied	0.30 hrs.	725.00	\$217.50
Retrieve administrative expense clai per request	m motion and fo	orward to R. Silberglied	
Ann Jerominski	0.10 hrs.	235.00	\$23.50
Retrieve and forward case managem per request (.1); Calendar same (.1)	ent scheduling o	rder to R. Silberglied	
Ann Jerominski	0.20 hrs.	235.00	\$47.00
	Rebecca V. Speaker Organize file and emails Robert C. Maddox Review BMC/A. Meislik emails (.1) Numerous emails with G. Utlik, with Meislik re: notices (.2) Russell Silberglied Email with R. Silberglied re: case in Ann Jerominski Revise notice list and emails with D. Numerous additional emails with D. Russell Silberglied Email from, to B. Heuer re: notices reports, depository list and other U.S. Kong re: same and email to A. Steel Russell Silberglied Retrieve administrative expense claiper request Ann Jerominski Retrieve and forward case management per request (.1); Calendar same (.1)	Organize file and emails Robert C. Maddox 0.30 hrs. Review BMC/A. Meislik emails (.1); Emails with G Numerous emails with G. Utlik, with BMC, with A. Meislik re: notices (.2) Russell Silberglied 0.40 hrs. Email with R. Silberglied re: case involvement status Ann Jerominski 0.10 hrs. Revise notice list and emails with D. Fennell and K. Numerous additional emails with D. Fennell and K. Russell Silberglied 0.20 hrs. Email from, to B. Heuer re: notices (.1); Review ope reports, depository list and other U.S. Trustee forms Kong re: same and email to A. Steele re: same (.1) Russell Silberglied 0.30 hrs. Retrieve administrative expense claim motion and for per request Ann Jerominski 0.10 hrs. Retrieve and forward case management scheduling of per request (.1); Calendar same (.1)	Rebecca V. Speaker 0.20 hrs. 235.00 Organize file and emails Robert C. Maddox 0.30 hrs. 450.00 Review BMC/A. Meislik emails (.1); Emails with G. Utlik re: notices (.1); Numerous emails with G. Utlik, with BMC, with A. Steele and with A. Meislik re: notices (.2) Russell Silberglied 0.40 hrs. 725.00 Email with R. Silberglied re: case involvement status Ann Jerominski 0.10 hrs. 235.00 Revise notice list and emails with D. Fennell and K. Martin re: same (.1); Numerous additional emails with D. Fennell and K. Martin re: notices (.1) Russell Silberglied 0.20 hrs. 725.00 Email from, to B. Heuer re: notices (.1); Review operating guidelines, reports, depository list and other U.S. Trustee forms (.1); Email from, to A. Kong re: same and email to A. Steele re: same (.1) Russell Silberglied 0.30 hrs. 725.00 Retrieve administrative expense claim motion and forward to R. Silberglied per request Ann Jerominski 0.10 hrs. 235.00 Retrieve and forward case management scheduling order to R. Silberglied per request (.1); Calendar same (.1)

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 3 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 3

Client # 746134

TO	TAL DUE FOR THIS MATTE	R		\$1,136.00
TO	TAL DUE FOR THIS INVOICE			\$1,136.00
	Тс	otal Fees for Profess	sional Services	\$1,136.00
11/29/15 Associate	Review proposed fee order Robert C. Maddox	0.30 hrs.	450.00	\$135.00
11/13/15 Director	Read case management order Russell Silberglied	0.10 hrs.	725.00	\$72.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 4 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 4

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Creditor Inquiries

10/27/15	Call from A. Nann re: ARC with A. Ordubegian re: san	• •	Meislik re: ARC; E	mails
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
11/17/15	Emails with N. Ecker re: bi with A. Meislik re: same (.			ils
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
		Total Fees for Profess	ional Services	\$290.00
ТО	TAL DUE FOR THIS INVO	ICE		\$290.00
TO	OTAL DUE FOR THIS MAT	ГТЕК		\$290.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 5 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 5

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Meetings

11/23/15

Email from, to G. Utlik re: 341 meeting and review creditor email re: same

Director

Russell Silberglied

0.10 hrs.

725.00

\$72.50

Total Fees for Professional Services

\$72.50

TOTAL DUE FOR THIS INVOICE

\$72.50

TOTAL DUE FOR THIS MATTER

\$72.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 6 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 6

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Executory Contracts/Unexpired Leases

relat	ing to Executory Contracts/Ui	nexpired Leases			
11/18/15	Drafted Notice of Assumpt	ion and Assignment of	Non-Executory Contr	racts	
Associate	Andrew M. Dean	3.60 hrs.	260.00	\$936.00	
11/18/15	Emails with D. Fennell and with A. Meislik re: contract Emails with D. Fennell re: contracts (.1); Review contracts same with A. Dean (.1); Numerous emails with (.1)	ts (.1); Emails with A. s contracts (.1); Emails v racts (.2); Revise notice a (.1); Review multiple	Steele re: contracts (.1 vith A. Meislik re: e of assignment (.1); A. Steele emails re: sa); ame	
Director	Russell Silberglied	1.10 hrs.	725.00	\$797.50	
11/19/15	Continued Drafting Supple	mental Notice of Assur	nption		
Associate	Andrew M. Dean	0.90 hrs.	260.00	\$234.00	
11/19/15	Revise supplemental notice	,			
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50	
11/20/15	Drafted supplemental notice of assumption of non-executory contracts (.4); Prepared AirFast Supplemental Notice of Assumption (.5); Emailed A. Meislik Supplemental Notice for Approval (.2)				
Associate	Andrew M. Dean	1.10 hrs.	260.00	\$286.00	
		Total Fees for Profess	sional Services	\$2,326.00	
ТО	TAL DUE FOR THIS INVOI	CE		\$2,326.00	
TC	TAL DUE FOR THIS MAT	TER		\$2,326.00	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 7 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 7

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Plan of Reorganization/Disclosure Statement

10100	ing to 1 tun of 100 organizations			
10/29/15 Director	Call with A. Meislik re: pla Russell Silberglied	n and related issues 0.10 hrs.	725.00	\$72.50
11/24/15	Emails with Z. Shapiro re:	combined plan and disc	losure statement	
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
		Total Fees for Profess	sional Services	\$145.00
TC	OTAL DUE FOR THIS INVOI	CE	_	\$145.00
TO	OTAL DUE FOR THIS MAT	TER	_	\$145.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 8 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 8

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Use, Sale of Assets

10/27/15	Retrieve and import sale motion			
Paralegal	Ann Jerominski	0.10 hrs.	235.00	\$23.50
10/27/15	Daviery email from D. Cilhandlied no	. gala haaring dat		
	Review email from R. Silberglied re	_		4.50.50
Director	Mark A. Kurtz	0.10 hrs.	525.00	\$52.50
10/27/15	Review filed version of sale motion Post-hearing emails (x3) with A. Me with G. Utlik re: U.S. Trustee call ar	islik and G. Utlil	k re: sale (.1); Emails	
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50
10/28/15	Locate information regarding purcha	ıser		
Associate	Amanda R. Steele	0.20 hrs.	425.00	\$85.00
10/28/15	Review proposed changes to order			
	1 1	0.101	725.00	\$70.50
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
11/05/15	Review ACIC email (.1); Analysis as same (.2)	nd emails (x2) w	ith A. Ordubegian re:	
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50
11/10/15	Analyze email from R. Silberglied re: APA concern from interested party (0.1); call to A. Holt re: APA asset sale analysis (0.1); analyze excluded assets and call with R. Silberglied re: same (0.3); analyze APA re: excluded assets with A. Holt (0.2)			
Director	Mark A. Kurtz	0.70 hrs.	525.00	\$367.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 9 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 9

Client # 746134

11/10/15	Email from G. Pagter, to M. Kurtz call with M. Kurtz re ACIC (.1); D M. for comment (.1); Emails to A. same (.1); Email from A. Meislik t	raft proposed re Meislik and to	esponse and sent to Adam and from M. Kurtz re		
Director	Russell Silberglied	0.50 hrs.	725.00	\$362.50	
11/16/15	Reviewed APA and email from R.	Silberglied			
Director	Mark A. Kurtz	0.10 hrs.	525.00	\$52.50	
11/16/15	Review G. Pagter email and review (x2) with G. Utlik re: same (.1)	v old emails for	background (.1); Emails		
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00	
11/17/15	Conference with R. Silberglied re: sale order issues (.1); Review sale order for issues (.2); Call with S. Seyalioglu re: sale hearing issues (.2); Review objection to sale (.1); Email to A. Meislik re: contracts for sale hearing (.1); Email to G. Utlik re: reply (.1); Emails with R. Silberglied, A. Meislik and S. Seyalioglu re: reply issues (.5); Review APA (.1); Email to R. Speaker re: sale issues (.1); Call with M. Kurtz re: same (.1)				
Associate	Amanda R. Steele	1.60 hrs.	425.00	\$680.00	
11/17/15	Review docket re: objections to sale motion and email to R. Silberglied (.1); Retrieve objection to sale motion and declaration in support of same and forward to R. Silberglied (.1)				
Paralegal	Ann Jerominski	0.20 hrs.	235.00	\$47.00	
11/17/15	Reviewed correspondence re: object	etion			
Director	Mark A. Kurtz	0.20 hrs.	525.00	\$105.00	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 10 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 10

Client # 746134

11/17/15	Emails (x2) with G. Utlik resordubegian and A. Meislik; response (.1); Email to purch affidavit (.3); Numerous email A. Steele re: same (.1); Call with R. Berkovich re: same (.1); Review numerous email same (.1); Call with objector Seyalioglu and A. Steele (.1)	Emails re: ACIC (.1); haser re: sale (.2); Revails with client re: same and email with A. Ster. (.1); Email to objector is re: objection (.1); Est counsel (.2); Report	Continue same and sendiew sale objection and e (.2); Conference with ele re: same (.1); Emails is counsel re: document mails with A. Meislik re	;	
Director	Russell Silberglied	1.90 hrs.	725.00	\$1,377.50	
11/17/15	Review numerous A. Steele and Email to, from A. Steele and same (.1)	•	. , ,		
Director	Russell Silberglied	0.40 hrs.	725.00	\$290.00	
11/18/15	Conference with R. Silberglied re: sale order language (.1); Draft sale order language (.2); Conference with R. Silberglied re: reply (.1); Conference with A. Dean re: notice of contracts (.1); Emails with D. Fennel re: same (.2); Emails with R. Silberglied re: same (.1); Email to G. Utlik re: filing preparation (.1); Conference with R. Silberglied re: reply information (.1); Email to K. Martin re: contract information for sale (.1); Email to A. Dean re: notice for sale (.1); Email to R. Silberglied re: language for sale order (.1); Draft reply for sale objection (3.1)				
Associate	Amanda R. Steele	4.40 hrs.	425.00	\$1,870.00	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 11 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 11

Client # 746134

11/18/15	Analysis of facts for objection (.1); Analysis of facts (.1); Cara. Steele re: correspondence for resolut (.2); Send summary to object Review emails re: contract an Steele and with A. Meislik re: (x2) with D. Talerico re: sale contracts (.1); Conference wit (.1); Research timing issue (.1) proposed language to C. Gres objection and from A. Steele	Ill with objector's counter for resolution (.1); Contion (.1); Call with R. or (.1); Email from, to d review amendment as same (.1); Email from (.1); Further instruction A. Steele re: sale on (.1); Revise language for h (.1); Email from, to	nsel (.2); Instructions to onference with A. Steele Berkovich re: objection A. Steele re: same (.1); (.1); Emails with A. m E. Park and emails ons to A. Steele re: rder language and reply or sale order (.1); Send		
Director	Russell Silberglied	2.00 hrs.	725.00	\$1,450.00	
11/19/15	Conference with L. Morris re: revisions to reply (.1); Incorporate comments into reply (1.4); Email to R. Silberglied re: reply (.1); Email reply to A. Meislik and S. Seyalioglu (.1); Email to A. Dean re: supplemental notice of assigned contracts (.1); Email to R. Silberglied re: personnel contracts (.1); Email to A. Dean re: same (.1); Conference with A. Dean re: same (.1); Conference with R. Silberglied re: revisions to reply (.1)				
Associate	Amanda R. Steele	2.20 hrs.	425.00	\$935.00	
11/19/15	Email with Adam Meislik re: closing mechanics (0.1); call with R. Silberglied re: Airfast Purchase and Sale Agreement closing (0.1); review email from A. Meislik re: Purchase and Sale Agreement closing items (0.1); call with R. Silberglied re: closing items (0.1); emails (x3) to A. Meislik re: Purchase and Sale Agreement closing items (0.2); review Purchase and Sale and prepare email to buyer's counsel re: closing mechanics (0.5)				
Director	Mark A. Kurtz	1.10 hrs.	525.00	\$577.50	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 12 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 12

Client # 746134

11/19/15	Revise reply (.8); call with M Emails (x2) with A. Steele re Seyalioglu re: same (.1); Em. C. Gesh re: ame (.1); Review A. Meislik re: same (.1); Em with A. Steele re: same (.1); sale issues (.1); Emails with M. Kurtz re: same (.1); Emails call with A. Ordubegian re sa	e: revisions (.1); Emai ail from, to G. Utlik roy A. Meislik's commen ails with A. Steele re: Emails with M. Kurtz M. Kurtz re: closing of ls with A. Steele re: s	I to A. Meislik and S. e: reply (.1); Emails wints (.1); Emails (x2) wints (.1); Conference and with A. Meislik relocuments (.1); Call wi	th th e: th	
Director	Russell Silberglied	2.40 hrs.	725.00	\$1,740.00	
11/20/15	Email to A. Dean re: disclosure documents (.1); Review and revise sale order (.3); Draft declaration re: sale order (.3); Revise reply re: sale objection (.6); Call with G. Indelicato, A. Meislik and S. Seyalioglu re: reply and declaration (.2); Revise same (.2); Emails with R. Silberglied re: same (.1); Revise declaration (.2); Emails with S. Seyalioglu re: reply to sale objection (.2); Email to K. Martin re: notice for contracts re: sale (.1); Conference with A. Dean re: same (.1); Revise declaration (.1); Email to A.				
Associate	Jerominski re: sale hearing p Amanda R. Steele	2.60 hrs.	425.00	\$1,105.00	
11/20/15	Conference call re: closing (0.6); Draft closing che	ecklist (1.1)		
Associate	Andrew M Holt	1.70 hrs.	260.00	\$442.00	
11/20/15	Prepare binder of sale docum	ents per A. Steele (.4)); Prepare index for san	ne	
Paralegal	Ann Jerominski	0.50 hrs.	235.00	\$117.50	
11/20/15	Call with Buyer's counsel rere: PSA closing items (0.2)	closing mechanics (0	0.7); email to A. Meislil	k	
Director	Mark A. Kurtz	0.90 hrs.	525.00	\$472.50	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 13 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 13

Client # 746134

11/20/15	Emails with R. Berkovich re: objection Steele re same (.4); Telephone calls of S. Seyalioglu comments (.1); Revise and S. Seyalioglu emails re same (.1) with A. Ordubegian re reply (.1); Emrevise affidavit (.1); Send reply to but	with A. Steele r multiple drafts); Email to S. So nails with L. Ind	e same (x2) (.2); Read (.4); Review A. Meislik eyalioglu (.1); Emails lelicato re same (.1);	
Director	Russell Silberglied	1.80 hrs.	725.00	\$1,305.00
11/21/15	Reviewed revised release			
Director	Mark A. Kurtz	0.20 hrs.	525.00	\$105.00
11/22/15	Analyze noteholder documents and cand noteholder documents (1.2); ana review correspondence from E. Park Meislik re: noteholder waiver (0.5); analyze closing requirements and pre-	lyze noteholder re: release (0.2) email to E. Park	documents (0.6);); prepare email to A. c re: waiver (0.1);	
Director	Mark A. Kurtz	3.80 hrs.	525.00	\$1,995.00
11/22/15	Emails with A. Meislik re Greek empsame (.1); Send response (.1); Review Meislik re release and ancillary sales	w emails of M.	Kurtz, E. Park and A.	
Director	Russell Silberglied	0.60 hrs.	725.00	\$435.00
11/23/15	Revise officer's certificate (.1) Revise Silberglied and G. Utlik re: preparati	, ,		
Associate	Amanda R. Steele	1.00 hrs.	425.00	\$425.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 14 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 14

Client # 746134

11/23/15	Email to A. Steele re: CTO closing documents and prep same (2.0); prepare funds flot to E. Park re: waiver (0.1); A. Holt re: funds flow (0.1); items (0.2); prepare seller re Silberglied re: waiver of right (0.1); call with R. Silberglie reservation of rights email to reservation of rights corresp (1.1)	are comments (including to w (0.4); prepare closists and to A. Meislik recall with E. Park and servation of rights letter (0.1); email to A. It does not be a waiver of rights (o. A. Meislik (0.8); emails with the control of the con	ng emails to A. Holt) to ng checklist (0.1); email funds flow (0.1); email to D. Talerico re: closing er (1.1); email to R. Holt re: closing document (0.1); prepare summary of ail to A. Meislik re:	CS
Director	Mark A. Kurtz	6.50 hrs.	525.00	\$3,412.50
11/23/15	Revise sale order (.1); Email objectors' counsel (.1); Email language (.1); Numerous emails with Sevket re: same same (.2); Update A. Meislif re: noteholder release (.2); Call with M. Kurtz re: sale inoteholder release (.1); Email Emails with D. Talerico re:	Il to buyer re: order (.1 tails with objectors' co (.2); Multiple emails k re: same (.1); Multiple all with D. Talerico ressues (.1); Email from ils (x2) with A. Ordub); Negotiate resolution o unsel (.2); Numerous with buyers' counsel re: le emails with M. Kurtz e: noteholder release (.1); , to A. Meislik re: legian re: order (.1);	
Director	Russell Silberglied	2.10 hrs.	725.00	\$1,522.50
11/24/15	Email to R. Silberglied re: 3 Revise sale order (.1); Call v R. Silberglied re: revised sal	vith G. Utlik re: revise	<u> </u>	
Associate	Amanda R. Steele	0.50 hrs.	425.00	\$212.50
11/24/15	Draft IP assignment, edit res books (1.6); Conference cal and Edgar Park (0.6); Call w (0.1); E-mail signature pages	l re: closing with M. l vith Wilshire Escrow r	Kurtz, Derrick Talerico e: funds disbursement	
Associate	Andrew M Holt	2.50 hrs.	260.00	\$650.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 15 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 15

Client # 746134

11/24/15	Review APA and email to R. Silberglied re: waivers and redocument and email to A. Ho outstanding items and IP assig (buyer's counsel) re: closing items (0.2); email A. Holt re IP assignment (0.2); closing items (0.1); call with pages and email to A. Holt rere: closing items (0.2)	servation of rights (0 lt re: same (0.4); call gnment (0.3); call wittems (0.3); prepare I (5); email corresponded with client re: close); email corresponder CTO re: certification	.3); prepare funds flow with A. Holt re: th E. Park and D. Talerico P assignment (0.4); ence with E. Park and D. sing items (0.2); call with nee with A. Holt re: (0.2); analyze signature			
Director	Mark A. Kurtz	3.60 hrs.	525.00	\$1,890.00		
11/24/15	Review comments to waiver (Review reservation of rights (Kurtz re: same (.1); Conference: same (.1); Coordinate with re: order (.1); Emails with G. (.1); Review revisions (.1); Engreservation of rights (.1); Call Steele re: same (.1); Addition with D. Talerico re: order (.1)	.1); Suggest changes ce with G. Utlik re: of Buyer re: closing (.3 Utlik re: same and we mails with M. Kurtz of from D. Talerico re: al emails with G. Utl	(.1); Emails with M. order (.1); Call A. Steele B); Emails with A. Steele ith D. Talerico re: same re: closing issues and re: order and email to A.			
Director	Russell Silberglied	1.60 hrs.	725.00	\$1,160.00		
11/25/15 Associate	Attend closing calls (x3) Amanda R. Steele	0.70 hrs.	425.00	\$297.50		
11/25/15	closing funds flow, and escrov	Amanda R. Steele 0.70 hrs. 425.00 \$297.50 Conference call re: closing (0.6); Edit IP Assignment, edit closing checklist, closing funds flow, and escrow instructions compile signatures (2.6); E-mail escrow instructions to escrow agent (0.1)				
Associate	Andrew M Holt	3.30 hrs.	260.00	\$858.00		
11/25/15 Paralegal	Retrieve and import sale order Ann Jerominski	r 0.10 hrs.	235.00	\$23.50		

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 16 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 16

Client # 746134

11/25/15	Call with A. Holt and email to T. Holt (0.3); email to client re: reservation disbursement letter (0.1); analyze fir participate on closing calls (1.2); call reimbursement offer (0.2); analyze I obligation (0.3); review correspondence to E. Park and D. Ta (0.2)	of rights (0.5); enal documents (0.6) ll with D. Taleric with R. Silbergletter agreement rence re: receipt o	mail to A. Holt re: 0.5); prepare for and co re: reservation of ied and A. Meislik re: re: reimbursement f wires and prepare	
Director	Mark A. Kurtz	3.60 hrs.	525.00	\$1,890.00
11/25/15	Review closing documents (.1); Cal (.2); Emails with A. Meislik re: sam (.1); All hands call re: same (.1); Ca same (.2); Second all hands call re: (.1); Emails from D. Talerico, to M. same (.1); Emails from, to D. Taleri Meislik re: pre-closing issues (.1); R.	te (.1); Emails will with A. Meisli same (.2); Revie Kurtz, and from co re: closing iss	ith D. Talerico re: same k and M. Kurtz re: w indemnification letter and to A. Meislik re: sues (.1); Emails with A.	
Director	Russell Silberglied	1.50 hrs.	725.00	\$1,087.50
11/25/15	Conference with Andrew Holt re: trademark search and correspondence Patent and Trademark Office (.1)			
Director	Tara J. Hoffner	0.40 hrs.	625.00	\$250.00
11/27/15	Review correspondence related to w	rire receipts and	email to buyer's	
Director	Mark A. Kurtz	0.20 hrs.	525.00	\$105.00
11/27/15 Director	Attention to closing Russell Silberglied	0.10 hrs.	725.00	\$72.50
11/30/15 Associate	Create closing binder Andrew M Holt	1.10 hrs.	260.00	\$286.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 17 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 17

Client # 746134

11/30/15	Review correspondence review trademark regist	e re: statement of claims fro	om N. Koklonis and	
Director	Mark A. Kurtz	0.20 hrs.	525.00	\$105.00
		Total Fees for Profes	sional Services	\$30,892.50
ТС	OTAL DUE FOR THIS IN	VOICE		\$30,892.50
TO	OTAL DUE FOR THIS M	IATTER		\$30,892.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 18 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 18

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Cash Collateral/DIP Financing

11/10/15

Email from G. Pagter, to A. Ordubegian re ACIC bonds

Director

Russell Silberglied

0.10 hrs.

725.00

\$72.50

Total Fees for Professional Services

\$72.50

TOTAL DUE FOR THIS INVOICE

\$72.50

TOTAL DUE FOR THIS MATTER

\$72.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 19 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 19

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Claims Administration

11/06/15	Review petitioning creditors' motio supporting documentation (.1); Em		* * *	
Director	Russell Silberglied	0.40 hrs.	725.00	\$290.00
11/30/15	Review claim statement from N. Ko			
Associate	Amanda R. Steele	0.10 hrs.	425.00	\$42.50
11/30/15	Read Nikos' claim (.1); Multiple en re: same (.1)	nails with A. Mei	slik and A. Ordubegian	
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
	Total 1	Fees for Professio	nal Services	\$477.50
ГОТ	AL DUE FOR THIS INVOICE			\$477.50
TO	TAL DUE FOR THIS MATTER			\$477.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 20 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 20

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Court Hearings

10/27/15	Pre-hearing call with A. Meislik, A. Telephonic attendance at hearing (.4 Meislik re: hearing (.1); Email from re: hearing (.1); Emails (x3) with G.); Emails (x2) w A. Meislik, to W	ith G. Utlik and A. Veil Gotshal and E. Park	
Director	Russell Silberglied	1.00 hrs.	725.00	\$725.00
10/28/15	Email to Weil re: hearing and email U.S. Trustee call (.1); Review emails hearing and emails (x2) with E. Park hearing and emails with Arent Fox r	s with Arent Fox re: hearing (.1);	paralegal re: notice of	
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50
10/29/15 Director	Call with G. Utlik re: sale hearing Russell Silberglied	0.10 hrs.	725.00	\$72.50
11/06/15	Call with A. Ordubegian re: hearing re: same (.1) Numerous emails with	` '	_	
Director	Russell Silberglied	0.40 hrs.	725.00	\$290.00
11/10/15 Director	Emails with G. Utlik re hearing Russell Silberglied	0.10 hrs.	725.00	\$72.50
11/13/15 Director	Emails (x2) with A. Odebagian re: se Russell Silberglied	ale hearing 0.10 hrs.	725.00	\$72.50
11/17/15 Director	Email from, to A. Nann re: hearing Russell Silberglied	0.10 hrs.	725.00	\$72.50
11/17/15 Director	Email from, to S. Seyalioglu re: hear Russell Silberglied	ring and from, to 0.10 hrs.	A. Meislik re: hearing 725.00	\$72.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 21 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 21

Client # 746134

11/20/15	Emails with G. Utlik re hea Telephone call with G. Utli	_ , , , ,		
	(.1); Coordinate with A. Or	dubegian and G. Utlik ((.1)	
Director	Russell Silberglied	0.70 hrs.	725.00	\$507.50
11/23/15	Prepare for hearing (1.0); E emails with G. Utlik re: hear Call with D. Talerico re: he	aring (.3); Call from A.	` '	
Director	Russell Silberglied	1.70 hrs.	725.00	\$1,232.50
11/24/15	Prepare for hearing and rev for hearing (.3); Emails (x3 Steele re: 363(b) and 322 (. (.3); Attend hearing (.8)) with A. Meislik re: pro	offer (.2); Emails with A.	
Director	Russell Silberglied	2.50 hrs.	725.00	\$1,812.50
		Total Fees for Profess	ional Services	\$5,147.50
TO	OTAL DUE FOR THIS INVOI	CE		\$5,147.50
TO	OTAL DUE FOR THIS MAT	TER		\$5,147.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 22 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 22

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to General Corporate/Real Estate

10/28/15				
Director	Mark A. Kurtz	0.10 hrs.	525.00	\$52.50
11/02/15	Multiple emails with A. M. DeFranceschi re: same (.1)	•	, ,	
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50
11/23/15	Analyze escrow agreemen Seller's Closing Certificate Instructions (4.6)	` , , .		
Associate	Andrew M Holt	5.80 hrs.	260.00	\$1,508.00
		Total Fees for Professi	onal Services	\$1,778.00
TO	ΓAL DUE FOR THIS INVO	ICE		\$1,778.00
ТО	TAL DUE FOR THIS MA	TTER		\$1,778.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 23 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 23

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Schedules/SOFA/U.S. Trustee Reports

10/29/15	Emails with T. Wolf re: schedules at Review U.S. Trustee email re: format Meislik re: same (.1); Discuss with I Arent Fox re: formation meeting (.1) Conference with RLF attorneys re: s re: same (.1)	ntion meeting and RLF attorneys (.1); Call with G. Ut	d emails (x2) with A.); Multiple emails with tlik re: same (.2);	
Director	Russell Silberglied	0.80 hrs.	725.00	\$580.00
10/30/15 Director	Emails (x3) with G. Utlik re: format Russell Silberglied	ion 0.10 hrs.	725.00	\$72.50
11/02/15 Director	Call from A. Odebagian re: formation Russell Silberglied	on meeting 0.20 hrs.	725.00	\$145.00
11/04/15 Director	Email to A. Ordubegian re: formatio Russell Silberglied	n meeting 0.10 hrs.	725.00	\$72.50
11/06/15 Director	Multiple emails with Arent Fox re: f Russell Silberglied	formation meeting 0.10 hrs.	g 725.00	\$72.50
11/09/15	Review email from G. Utlik re: 1007 response (.1); Email from G. Utlik, t information to G. Utlik (.1)	, ,		
Director	Russell Silberglied	0.40 hrs.	725.00	\$290.00
11/14/15 Director	Review U.S. Trustee filing re: comm Russell Silberglied	nittee formation 0.10 hrs.	725.00	\$72.50

Total Fees for Professional Services

\$1,305.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 24 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 24

Client # 746134

Matter # 189916

TOTAL DUE FOR THIS INVOICE

\$1,305.00

TOTAL DUE FOR THIS MATTER

\$1,305.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 25 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 25

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Litigation/Adversary Proceedings

10/30/15	Discuss Travelport and Micros re: same (.1); Email to R. Mad			ik
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
11/02/15	Emails with R. Maddox re: Tr	avelport and Microso	ft	
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
11/30/15	Read letter from N. Koklonis a	and A. Meislik re: rep	ly	
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
	Т	otal Fees for Professi	onal Services	\$290.00
TO	ΓAL DUE FOR THIS INVOICE		-	\$290.00
TO	TAL DUE FOR THIS MATTE	E R	-	\$290.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 26 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 26

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to RLF Retention

10/20/15	Continued drafting Retention applic	cation		
Associate	Andrew M. Dean	1.60 hrs.	260.00	\$416.00
10/27/15	Edited AirFast Ticket Retention Ap	plication (1.1); N	Met with R. Maddox re:	
	retention app (.2)			
Associate	Andrew M. Dean	1.30 hrs.	260.00	\$338.00
10/27/15	Meeting with A. Dean re: retention	annlication		
Associate	Robert C. Maddox	0.40 hrs.	450.00	\$180.00
1155001410	reserved in maddon	0.10 III5.	150.00	Ψ100.00
10/30/15	Email accounting re: payments (.1);	Update payment	ts chart (.3); Email	
	same to T. Wolff (.1); Finalize reter	ntion application	for review by R.	
	Silberglied (.3)			
Associate	Robert C. Maddox	0.80 hrs.	450.00	\$360.00
10/30/15	Revise RLF retention application (.4	1). Email A. Mai	alile roy DIE rotantian	
10/30/13	application (.1)	+), Ellian A. Mei	Slik le. KLI letention	
Director	Russell Silberglied	0.50 hrs.	725.00	\$362.50
	2-1-1-2-1-2-1-2-1-2-1-2-1-2-1-2-1-2-1-2		,	400-100
11/02/15	Research S.D.N.Y. Local Rule re: fi	iling deadlines (.:	5); Review emails (x6)	
	re: retention application (.2)			
Associate	Robert C. Maddox	0.70 hrs.	450.00	\$315.00
11/02/15	E	4 T	1'(1) D'	
11/02/15	Email to G. Utlik re: RLF and Aren same with R. Maddox (.1)	t Fox retention ap	oplication (.1); Discuss	
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
131100101	reasser smootgired	0.20 1115.	723.00	φ1 13.00
11/02/15	Call from A. Odebagian re: RLF ret	ention		
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 27 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 27

Client # 746134

11/03/15	Located three potential conflicts of to R. Maddox	finterest in confl	licts reports and emailed		
Associate	Andrew M. Dean	0.10 hrs.	260.00	\$26.00	
11/04/15	Modified Retention Application to	Reflect Special	Counsel Issue		
Associate	Andrew M. Dean	2.30 hrs.	260.00	\$598.00	
11/04/15	Meeting with R. Silberglied and A Meeting with A. Dean re: revised a revised application (.1); Review an Circulate same to R. Silberglied (.1)	application (.2); Indicated	Review voice mail re:		
Associate	Robert C. Maddox	0.90 hrs.	450.00	\$405.00	
11/04/15	Discuss retention application to R. same	Maddox and em	nail to A. Ordubegian re:		
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50	
11/04/15	Emails with A. Ordubegian and to R. Maddox re: RLF retention application .1); Conference with R. Maddox and A. Dean re: RLF retention application .1); Voice mail from, to A. Ordubegian re: same (.1)				
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50	
11/05/15	Revise RL&F retention application retention app (.3)	ı (2.2); Drafted n	notice of hearing for RLF		
Associate	Andrew M. Dean	2.70 hrs.	260.00	\$702.00	
11/05/15	Meeting with A. Dean re: retention	application			
Associate	Robert C. Maddox	0.10 hrs.	450.00	\$45.00	
11/05/15	Revise RLF retention application (Arent Fox and to A. Meislik re: sar email to L. Indelicato and A. Kong RLF retention application (.1)	ne (.1); Review	and revise notice and		
Director	Russell Silberglied	0.70 hrs.	725.00	\$507.50	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 28 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 28

Client # 746134

11/06/15	Continued drafting Airfast ret	tention application w	rith L. Morris	
Associate	Andrew M. Dean	0.40 hrs.	260.00	\$104.00
11/06/15	Email from, to A. Kong re: R. RLF retention application and revisions requested by Arent I Arent Fox request (.1); Nume same (.1); Additional revision emails with Arent Fox re: sam application (.1)	I finalize R. Silbergli Fox (.1); Draft cover rous additional emains requested by Aren	led affidavit (.1); Further email to U.S. Trustee per ls with Arent Fox re: t Fox (.1); Numerous	
Director	Russell Silberglied	0.80 hrs.	725.00	\$580.00
11/09/15	Meeting with A. Dean re: rete filing (.2)	ention filing (.2); Rev	view revised retention	
Associate	Robert C. Maddox	0.40 hrs.	450.00	\$180.00
11/11/15	Multiple emails re: Arent Fox	re retention apps		
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
11/12/15	Review update for G. Utlik (RLF retention application (.2) (.1); Emails to and from G. Utlik (Trustee (.1); Continued same same (.1); Email to A. Meislik Trustee call strategy and order retention issues (.1); research Trustee (.1); Continued same A. Ordubegian re: same (.1);	r; Email to and from tlik re: same (.1); Dr and email and voice x, Arent Fox team an r (.2); Conference wi re: same (.1); Review and email to A. Ordu	A. Ordubegian re: same aft response to U.S. mail to U.S. Trustee re: d R. Maddox re: U.S. th D. DeFranceschi re: w materials sent by U.S. abegian and voice mail to	
Director	Russell Silberglied	1.50 hrs.	725.00	\$1,087.50
11/13/15	Meeting with R. Silberglied rere: employment application (Attention to RLF retention application (.3); Scan and asse	2); Revise employme plication (.3); Review	ent application (.5); w emails (x8) re: retention	
Associate	Robert C. Maddox	1.80 hrs.	450.00	\$810.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 29 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 29

Client # 746134

11/13/15	Conference with R. Maddox re: RLF retention application / U.S. Trustee issues (.3); Emails (x3) with S. Golden re: same (.2); Conference with RLF				
	attorneys re: same (.2); Review and revise modified application (.2); Conference with R. Maddox re: same (.1); Email with U.S. Trustee re: same (.1); Instructions to A. Kong and L. Indelicato re: filing (.1); Instructions to				
	R. Maddox (.1); Emails (x4)	with G. Utlik re: RLF	retention application		
	(.2); Look up information fo same (.1)	r same and conference	with R. Maddox re:		
Director	Russell Silberglied	1.60 hrs.	725.00	\$1,160.00	
		Total Fees for Profess	sional Services	\$8,756.50	
TO	OTAL DUE FOR THIS INVOIC	CE		\$8,756.50	
T	OTAL DUE FOR THIS MAT	ΓER		\$8,756.50	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 30 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 30

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Retention of Others

10/30/15	Multiple emails with A. M. G. Utlik re: retention app.		sors (.2); Email from,	to
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50
11/02/15	Emails with G. Utlik re: r Meislik and A. Kong re: o		others (.1); Emails wit	th A.
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
11/05/15	Locate and send document application	nts requested by A. Kong	for Arent Fox retention	on
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
11/06/15	Multiple emails with Area and U.S. Trustee request (Revise Arent Fox descrip from G. Utlik re: same (.1 to U.S. Trustee (.1)	(.1); Email to, from A. On tion and U.S. Trustee cor	rdubegian re: UTurn (respondence (.1); Cal	(.1); 1
Director	Russell Silberglied	0.50 hrs.	725.00	\$362.50
11/13/15	Review Arent Fox revisio (.1); Review multiple A. (Arent Fox retention (.1)			
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50
11/23/15 Director	Email from, to A. Meislik Russell Silberglied	re: retention of profession 0.10 hrs.	onals 725.00	\$72.50
		Total Fees for Profess	ional Services	\$1,160.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 31 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 31

Client # 746134

Matter # 189916

TOTAL DUE FOR THIS INVOICE

\$1,160.00

TOTAL DUE FOR THIS MATTER

\$1,160.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 32 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 32

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to RLF Fee Applications

10/29/15	Update application (.2); Review	*	g statement (.2); Me	eeting
Associate	with R. Silberglied re: same (.1 Robert C. Maddox	0.50 hrs.	450.00	\$225.00
11/13/15	Call with A. Odebagian re: into to R. Maddox re: same (.1)	erim compensation n	notion (.2); Instructi	ons
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50
11/29/15 Email to R. Maddox re: fee applications				
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
	To	otal Fees for Profess	ional Services	\$515.00
ГОТ	TAL DUE FOR THIS INVOICE			\$515.00
TOTAL DUE FOR THIS MATTER			\$515.00	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 33 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 33

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Fee Applications of Others

relati	ng to Fee Applications of Oth	ers		
10/29/15	Draft letter to Chancery Cou	urt re: RLF fees		
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50
11/12/15	Emails with G. Utlik, et al. re interim compensation motion (.1); Telephone call with G. Utlik re: interim compensation motion (.2); Email to A. Ordubegian re: same (.1)			
Director	Russell Silberglied	0.40 hrs.	725.00	\$290.00
11/13/15	Research and retrieve sample interim comp procedures motions, orders and applications and forward to R. Maddox (.4); Research and update notice provision paragraphs of interim comp procedures motion and order (.3)			
Paralegal	Ann Jerominski	0.70 hrs.	235.00	\$164.50
11/13/15	Meeting with A. Jerominski re: interim fee application research (.1); Review interim compensation motions (.9); Draft interim compensation motion (1.5); Finalize interim compensation motion (.5)			
Associate	Robert C. Maddox	3.00 hrs.	450.00	\$1,350.00
11/13/15	Conference with R. Maddox re: interim compensation motion (.2); Emails with U.S. Trustee and with Arent Fox re: interim compensation motion (.1)			
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50
		Total Fees for Profess	ional Services	\$2,239.50
TO	ΓAL DUE FOR THIS INVOIC	CE		\$2,239.50
TOTAL DUE FOR THIS MATTER			\$2,239.50	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 34 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408

Page 34

Client # 746134

Matter # 189916

For services through November 30, 2015 relating to Non-Working Travel

11/24/15

Travel to New York City for hearing (1.1); Return travel back to Delaware

(.7)

Director

Russell Silberglied

1.80 hrs.

365.00

\$657.00

Total Fees for Professional Services

\$657.00

TOTAL DUE FOR THIS INVOICE

\$657.00

TOTAL DUE FOR THIS MATTER

\$657.00

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 December 14, 2015 Invoice 500408 Page 35 Client # 746134

	Summary of Hours		
	Hours	Rate/Hr	Dollars
Amanda R. Steele	13.30	425.00	5,652.50
Andrew M Holt	14.40	260.00	3,744.00
Andrew M. Dean	14.00	260.00	3,640.00
Ann Jerominski	2.00	235.00	470.00
Mark A. Kurtz	21.30	525.00	11,182.50
Rebecca V. Speaker	0.20	235.00	47.00
Robert C. Maddox	9.20	450.00	4,140.00
Russell Silberglied	1.80	365.00	657.00
Russell Silberglied	37.90	725.00	27,477.50
Tara J. Hoffner	0.40	625.00	250.00
TOTAL	114.50	\$500.09	57,260.50

TOTAL DUE FOR THIS INVOICE

\$58,488.66

Payment may be made by wire transfer to our account at M&T Bank, Rodney Square North, Wilmington, Delaware 19890, Account No. 2264-1174, ABA No. 022000046. Please indicate on wire transfer the invoice number stated above.

Photocopying and printing are charged at \$0.10 per page. Telephone charges are billed at standard AT&T rates which may not be our cost.

PAYABLE WHEN RENDERED

746134

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 36 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 2

Client # 746134

Matter # 189916

For services through December 31, 2015 relating to Case Administration

12/08/15 Associate	Arrange and compile case file Robert C. Maddox	0.20 hrs.	450.00	\$90.00
12/10/15 Associate	Email L. Morris re: Chancery lette Robert C. Maddox	er 0.10 hrs.	450.00	\$45.00
12/17/15	Retrieve newly filed pleading for I	R. Silberglied		
Paralegal	Rebecca V. Speaker	0.10 hrs.	235.00	\$23.50
12/28/15 Paralegal	Calendar 341 meeting Ann Jerominski	0.10 hrs.	235.00	\$23.50
	Total	Fees for Profes	sional Services	\$182.00
TO				
TOTAL DUE FOR THIS INVOICE			\$182.00	
BALANCE BROUGHT FORWARD			\$1,136.00	
TOTAL DUE FOR THIS MATTER			\$1,318.00	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 37 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LL 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612		LLC		January 14, 2016 Invoice 502608 Page 3 Client # 746134
nvinc CA	72012			Matter # 189916
	services through December 3	31, 2015		
12/16/15 Director	Schedule call with U.S. T Russell Silberglied	rustee and emails (x3) re 0.10 hrs.	e: same 725.00	\$72.50
		Total Fees for Profes	sional Services	\$72.50
	OTAL DUE FOR THIS INVO ALANCE BROUGHT FORV			\$72.50 \$72.50
TO	OTAL DUE FOR THIS MA	ATTER		\$145.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 38 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 4

Client # 746134

Matter # 189916

For services through December 31, 2015 relating to Automatic Stay/Adequate Protection

12/07/15	Email to, from A. Meislik re: stay re relief (.1); Emails from S. Golden, to	` / '	-	
Director	Russell Silberglied	0.30 hrs.	725.00	\$217.50
12/08/15	Meeting with R. Silberglied re: stay		•	
Associate	Robert C. Maddox	0.10 hrs.	450.00	\$45.00
12/08/15	Email from G. Utlik, to R. Maddox with R. Maddox re: stay relief (.1)	re: stay relief mo	tion (.1); Conference	
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
12/14/15	Email to A. Ordubegian and G. Utlil	k re: stay relief		
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
12/15/15	Discuss motion with R. Maddox and	l voice mail for S	S. Golden re: same	
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
12/16/15	Emails (x3) with S. Golden planning	g call		
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
12/17/15	Call with U.S. Trustee re: stay relief same and instructions to R. Maddox	• • •	ail to Arent Fox re:	
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
12/18/15	Research lift stay examples			
Associate	Robert C. Maddox	0.30 hrs.	450.00	\$135.00
12/21/15	Draft relief stay motion (1.8); Review R. Silberglied re: same (.1)	w relief stay mot	ion (.3); Meeting with	
Associate	Robert C. Maddox	2.20 hrs.	450.00	\$990.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 39 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 5

Client # 746134

Matter # 189916

12/21/15	Discuss stay relief motion	with R. Maddox		
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
12/22/15	Draft stay relief motion			
Associate	Robert C. Maddox	2.30 hrs.	450.00	\$1,035.00
12/23/15	Revise stay relief motion			
Associate	Robert C. Maddox	0.80 hrs.	450.00	\$360.00
		Total Fees for Profess	sional Services	\$3,362.50
TC	OTAL DUE FOR THIS INVO	CE		\$3,362.50
TOTAL DUE FOR THIS MATTER				\$3,362.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 40 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 6

Client # 746134

Matter # 189916

TOTAL DUE FOR THIS INVOICE
\$0.00
\$30,892.50

TOTAL DUE FOR THIS MATTER
\$30,892.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 41 of 70

Airfasttickets, Inc.
Adam Meislik
GlassRatner Advisory & Capital Group LLC
19800 MacArthur Boulevard, Suite 820
Irvine CA 92612

January 14, 2016 Invoice 502608 Page 7

Client # 746134

Matter # 189916

For services through December 31, 2015 relating to Claims Administration

\$72.50
\$72.50
\$145.00
\$290.00
\$290.00
\$477.50 \$767.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 42 of 70

Airfasttickets, Inc.
Adam Meislik
GlassRatner Advisory & Capital Group LLC
19800 MacArthur Boulevard, Suite 820
Irvine CA 92612

January 14, 2016 Invoice 502608

Page 8

Client # 746134

Matter # 189916

For services through December 31, 2015 relating to Court Hearings

TOT	TAL DUE FOR THIS MAT	ΓER		\$5,945.00
				\$5,147.50
TOT	CAL DUE FOR THIS INVOICE	CE		\$797.50
		Total Fees for Professi	onal Services	\$797.50
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
12/09/15	Attention to filing of letter			
Director	(.1); Email to A. Ordubegian R. Maddox re: same (.1) Russell Silberglied	0.50 hrs.	725.00	\$362.50
12/09/15	Revise letter to Chancery Co			
12/01/15 Director	Attend hearing telephonicall Russell Silberglied	ly 0.50 hrs.	725.00	\$362.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 43 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 9

Client # 746134

Matter # 189916

For services through December 31, 2015 relating to General Corporate/Real Estate

TO	ΓAL DUE FOR THIS MATTER		-	\$2,524.00
				\$1,778.00
TOT	TAL DUE FOR THIS INVOICE		•	\$746.00
	Tota	al Fees for Profess	sional Services	\$746.00
12/22/15 Director	Read new opinion re: pertinent c Russell Silberglied	orporate issue 0.20 hrs.	725.00	\$145.00
12/07/15 Director	Analyzed closing documents Mark A. Kurtz	0.60 hrs.	525.00	\$315.00
12/02/15 Associate	Compile Airfast closing binder Andrew M Holt	1.10 hrs.	260.00	\$286.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 44 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 10

Client # 746134

Matter # 189916

For services through December 31, 2015 relating to Litigation/Adversary Proceedings

12/07/15

Email to A. Meislik re: Travelport and Microsoft

Director

Russell Silberglied

0.10 hrs.

725.00

\$72.50

Total Fees for Professional Services

\$72.50

TOTAL DUE FOR THIS INVOICE

\$72.50

\$290.00

TOTAL DUE FOR THIS MATTER

\$362.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 45 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 11

Client # 746134

Matter # 189916

For services through December 31, 2015 relating to RLF Retention

12/17/15

Call with U.S. Trustee re: supplement notice (.1); Email to Arent Fox re:

same (.1); Review and revise notice (.1); Finalize same and emails (x2) with

G. Utlik re: same (.1)

Director

Russell Silberglied

0.40 hrs.

725.00

\$290.00

Total Fees for Professional Services

\$290.00

TOTAL DUE FOR THIS INVOICE

\$290.00

\$8,756.50

TOTAL DUE FOR THIS MATTER

\$9,046.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 46 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 12

Client # 746134

Matter # 189916

For services through December 31, 2015 relating to RLF Fee Applications

12/01/15	Discuss fee applications with R. Ma	ddox and amail f	rom to G. Hilik re	
12/01/13	same	adox and cinan i	ioni, to G. Othk ic.	
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
12/08/15	Meeting with R. Silberglied re: comp Silberglied re: fee applications (.2)	pensation motion	ı (.1); Email R.	
Associate	Robert C. Maddox	0.30 hrs.	450.00	\$135.00
12/08/15	Conference with R. Maddox re: letter review G. Utlik email re: fee application process (.1)		**	
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
12/09/15	Email with R. Silberglied re: filing of with C. Dale re: same (.1); Retrieve a procedures order (.1); Retrieve samp review (.1)	and review interi	m compensation	
Paralegal	Ann Jerominski	0.40 hrs.	235.00	\$94.00
12/09/15	Email A. Jerominski re: form of fee a Chancellor Laster re: fee applications Laster re: fee applications (.3)	* * * * * * * * * * * * * * * * * * * *		
Associate	Robert C. Maddox	0.90 hrs.	450.00	\$405.00
12/09/15	Email to, from G. Utlik re: fee applic same	cations and from,	to A. Jerominski re:	
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
12/10/15 Associate	Review bill memo Amanda R. Steele	0.50 hrs.	425.00	\$212.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 47 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 13

Client # 746134

Matter # 189916

12/10/15 Paralegal	Review and revise RLF bill memo Ann Jerominski	(.8); Email with 0.90 hrs.	n A. Steele re: same (.1) 235.00	\$211.50
T 0110110 B01		0.5 0 1115.	250,00	Ψ=11.00
12/11/15	Prepare draft of RLF first fee appli same	ication and emai	ll with C. McGlothlin re:	
Paralegal	Ann Jerominski	0.50 hrs.	235.00	\$117.50
12/14/15	Review SDNY dockets re: fee state Meeting with A. Jerominski re: sar rate increases (.1); Review bill men	ne (.1); Review	emails (x2) re: notice of	
Associate	Robert C. Maddox	0.80 hrs.	450.00	\$360.00
12/14/15	Emails (x3) with Arent Fox re: not order for same (.1); Emails with G (.1)			
Director	Russell Silberglied	0.20 hrs.	725.00	\$145.00
12/14/15	Conference with R. Maddox re: fee (.1); Revise fee application (.2); Corate increase (.1); Email from, to G	onference with Z	Z. Shapiro re: notice of	
Director	Russell Silberglied	0.50 hrs.	725.00	\$362.50
12/15/15	Discussions re: revisions to fee star	tement and appl	ication	
Paralegal	Ann Jerominski	0.10 hrs.	235.00	\$23.50
12/15/15	Finalize RLF first monthly fee app	lication (.3); Em	nail G. Utlik re: same (.1)	
Associate	Robert C. Maddox	0.40 hrs.	450.00	\$180.00
12/15/15 Director	Finalize and execute fee application Russell Silberglied	n 0.10 hrs.	725.00	\$72.50
12/17/15	Draft affidavit re: fee increase for 2		450.00	040500
Associate	Robert C. Maddox	0.30 hrs.	450.00	\$135.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 48 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 14

Client # 746134

Matter # 189916

ТО	TAL DUE FOR THIS MATI	ER		\$3,468.50
				\$515.00
ТО	TAL DUE FOR THIS INVOIC	E		\$2,953.50
		Total Fees for Profess	sional Services	\$2,953.50
		Total Fees for Profess	ional Comican	\$2.052.50
Associate	Robert C. Maddox	0.20 hrs.	450.00	\$90.00
12/23/15	Meeting with A. Jerominski	re: fee orders		
Paralegal	Ann Jerominski	0.20 hrs.	235.00	\$47.00
12/23/15	Research and retrieve Chanc forward to R. Maddox (x2)	ery Court orders regar	rding payment of fees	and
Director	Russell Silberglied	0.10 hrs.	725.00	\$72.50
12/17/15	Conference and emails with	R. Maddox re: affiday		

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 49 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 15

Client # 746134

Matter # 189916

TOTAL DUE FOR THIS INVOICE
\$0.00
\$2,239.50

TOTAL DUE FOR THIS MATTER
\$2,239.50

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 January 14, 2016 Invoice 502608 Page 16 Client # 746134

	Sum	mary of Hour	<u>S</u>
	Hours	Rate/Hr	Dollars
Amanda R. Steele	0.50	425.00	212.50
Andrew M Holt	1.10	260.00	286.00
Ann Jerominski	2.20	235.00	517.00
Mark A. Kurtz	0.60	525.00	315.00
Rebecca V. Speaker	0.10	235.00	23.50
Robert C. Maddox	8.90	450.00	4,005.00
Russell Silberglied	4.70	725.00	3,407.50
TOTAL	18.10	\$484.34	8,766.50

TOTAL DUE FOR THIS INVOICE

\$9,278.61

Payment may be made by wire transfer to our account at M&T Bank, Rodney Square North, Wilmington, Delaware 19890, Account No. 2264-1174, ABA No. 022000046. Please indicate on wire transfer the invoice number stated above.

Photocopying and printing are charged at \$0.10 per page. Telephone charges are billed at standard AT&T rates which may not be our cost.

PAYABLE WHEN RENDERED

746134

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 51 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459

Page 2

Client # 746134

Matter # 189916

For services through January 31, 2016 relating to Case Administration

01/22/16

Emails (x2) with G. Utlik re: Chancery order

Associate

Robert C. Maddox

0.20 hrs.

510.00

\$102.00

Total Fees for Professional Services

\$102.00

TOTAL DUE FOR THIS INVOICE

BALANCE BROUGHT FORWARD

\$102.00 \$409.20

TOTAL DUE FOR THIS MATTER

\$511.20

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 52 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459

Page 3

Client # 746134

Matter # 189916

For services through January 31, 2016 relating to Creditor Inquiries

01/05/16 Director	Emails (x2) with A. Nann and repor Russell C. Silberglied	t same to A. Meis 0.10 hrs.	slik and A. Ordubegian 750.00	\$75.00
01/18/16	Email from, to A. Nann re: status			
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
01/20/16	Call with T. Hoffman re: 341 inquiremail to T. Hoffman and A. Meislik		. Meislik re: same (.1);	
Associate	Amanda R. Steele	0.30 hrs.	465.00	\$139.50
01/20/16	Email from T. Hoffman, to and from	n A. Steele re: IA	TA	
Director	Russell C. Silberglied	0.20 hrs.	750.00	\$150.00
	Total F	ees for Profession	mal Services	\$439.50
ТОТ	AL DUE FOR THIS INVOICE			\$439.50
BAL	ANCE BROUGHT FORWARD			\$58.00
TOT	TAL DUE FOR THIS MATTER			\$497.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 53 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459

Page 4

Client # 746134

Matter # 189916

For services through January 31, 2016 relating to Meetings

01/21/16

Review numerous A. Meislik and T. Hoffman emails scheduling call

Director

Russell C. Silberglied

0.10 hrs.

750.00

\$75.00

Total Fees for Professional Services

\$75.00

\$75.00

TOTAL DUE FOR THIS INVOICE

BALANCE BROUGHT FORWARD

\$87.00

TOTAL DUE FOR THIS MATTER

\$162.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 54 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459

Page 5

Client # 746134

Matter # 189916

For services through January 31, 2016 relating to Automatic Stay/Adequate Protection

01/04/16	Revise stay relief motion (1.9);	Draft agreed stay r	elief order (.3)	
Associate	Robert C. Maddox	2.20 hrs.	510.00	\$1,122.00
01/05/16	Revise stay relief motion			
Director	Russell C. Silberglied	0.50 hrs.	750.00	\$375.00
01/06/16	Finalize stay relief motion			
Associate	Robert C. Maddox	1.20 hrs.	510.00	\$612.00
01/06/16	Revise second draft of stay relie	ef motion		
Director	Russell C. Silberglied	0.20 hrs.	750.00	\$150.00
01/07/16	Finalize draft of motion and sen	nd to A. Meislik and	d A. Ordubegian	
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
01/08/16	Email from, to A. Ordubegian resame (.1); Email from, to S. Gosame (.1); Email to L. Indelicate (.1); Review G. Utlik comments Utlik re: same and re: notice of	lden re: same and to re: filing and from son stay relief mot	o and from A. Meislik re: n, to A. Meislik re: call	
Director	Russell C. Silberglied	0.50 hrs.	750.00	\$375.00
	То	tal Fees for Profess	sional Services	\$2,709.00
TO	ΓAL DUE FOR THIS INVOICE			\$2,709.00
BALANCE BROUGHT FORWARD			\$3,362.50	
TOTAL DUE FOR THIS MATTER			\$6,071.50	

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 55 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459

Page 6

Client # 746134

Matter # 189916

For services through January 31, 2016 relating to Claims Administration

01/06/16	Retrieve American Express Silberglied	s Bank proof of claim and	d forward to R.	
Paralegal	Ann Jerominski	0.10 hrs.	240.00	\$24.00
01/22/16	Emails with A. Meislik re: (.1)	T. Hoffman (.1); Review	v spreadsheet for sa	ame
Director	Russell C. Silberglied	0.20 hrs.	750.00	\$150.00
		Total Fees for Professi	onal Services	\$174.00
TO	TAL DUE FOR THIS INVO	ICE		\$174.00
BA	LANCE BROUGHT FORWA	ARD		\$385.50
ТО	TAL DUE FOR THIS MAT	TTER		\$559.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 56 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459

Page 7

Client # 746134

Matter # 189916

For services through January 31, 2016 relating to Schedules/SOFA/U.S. Trustee Reports

01/20/16	Emails with and call with A Utlik and A. Steele re: 341	_	g (.1); Emails with	G.
Director	Russell C. Silberglied	0.20 hrs.	750.00	\$150.00
01/22/16	Provide requested documen	ts to G. Utlik for 341 m	eeting	
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
		Total Fees for Professi	ional Services	\$225.00
TOT	CAL DUE FOR THIS INVOICE	CE		\$225.00
BAI	LANCE BROUGHT FORWA	ARD		\$261.00
TO	TAL DUE FOR THIS MAT	TER		\$486.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 57 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459

Page 8

Client # 746134

Matter # 189916

For services through January 31, 2016 relating to Litigation/Adversary Proceedings

01/29/16

Review multiple emails re: IATA and investigation

Director

Russell C. Silberglied

0.10 hrs.

750.00

\$75.00

Total Fees for Professional Services

\$75.00

TOTAL DUE FOR THIS INVOICE

BALANCE BROUGHT FORWARD

\$130.50

\$75.00

TOTAL DUE FOR THIS MATTER

\$205.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 58 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459

Page 9

Client # 746134

Matter # 189916

For services through January 31, 2016 relating to RLF Retention

01/05/16 Director	Revise supplemental affidavit Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
01/06/16	Finalize draft of supplement affida Utlik re: same	avit and email to	A. Ordubegian and G.	
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
01/07/16 Director	Emails (x2) with G. Utlik re: supp Russell C. Silberglied	lemental notice 0.10 hrs.	750.00	\$75.00
01/25/16	Research re: OCP fee orders (.3);	Email R. Silhara	lied regard (1)	
Associate	Robert C. Maddox	0.40 hrs.	510.00	\$204.00
	Total	Fees for Profess	ional Services	\$429.00
TO	TAL DUE FOR THIS INVOICE			\$429.00
BA	LANCE BROUGHT FORWARD			\$2,041.30
ТО	TAL DUE FOR THIS MATTER			\$2,470.30

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 59 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459 Page 10

Client # 746134

Matter # 189916

For services through January 31, 2016 relating to RLF Fee Applications

to L. Morris (.1) Associate Robert C. Maddox 1.20 hrs. 510.00 \$612 01/07/16 Review emails (x2) re: fee notification Associate Robert C. Maddox 0.20 hrs. 510.00 \$102 01/11/16 Email with R. Maddox re: preparation of RLF fee statement (.1); Discussion with C. McGlothlin re: same (.1) Paralegal Ann Jerominski 0.20 hrs. 240.00 \$48	
01/07/16 Review emails (x2) re: fee notification Associate Robert C. Maddox 0.20 hrs. 510.00 \$102 01/11/16 Email with R. Maddox re: preparation of RLF fee statement (.1); Discussion with C. McGlothlin re: same (.1)	2.00
Associate Robert C. Maddox 0.20 hrs. 510.00 \$1020 01/11/16 Email with R. Maddox re: preparation of RLF fee statement (.1); Discussion with C. McGlothlin re: same (.1)	
01/11/16 Email with R. Maddox re: preparation of RLF fee statement (.1); Discussion with C. McGlothlin re: same (.1)	
with C. McGlothlin re: same (.1)	3.00
Paralegal Ann Jerominski 0.20 hrs. 240.00 \$48	3.00
01/12/16 Emails with R. Silberglied, R. Maddox and A. Steele re: fee application status (.2); Review interim compensation procedures order re: same (.1); Emails with C. McGlothlin re: same (.1); Calendar future fee application deadlines (.1)	
Paralegal Ann Jerominski 0.50 hrs. 240.00 \$120	00.0
01/12/16 Email from, to L. Indelicato re: RL&F fee application (.1); Emails (x3) with A. Jerominski re: same (.1); Additional email to Arent Fox re: fee application (.1)	
Director Russell C. Silberglied 0.30 hrs. 750.00 \$225	5.00
01/13/16 Review bill memo	
Associate Amanda R. Steele 0.20 hrs. 465.00 \$93	3.00
01/13/16 Review and revise bill memo (.4); Email with A. Steele and R. Maddox re: same (.1)	
Paralegal Ann Jerominski 0.50 hrs. 240.00 \$120	00.0

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 60 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459 Page 11 Client # 746134

Matter # 189916

01/15/16	Review and revise RLF fee state Discuss with R. Maddox (.1); A	` ''	•	1);
Paralegal	Ann Jerominski	0.50 hrs.	240.00	\$120.00
01/15/16	Finalize December fee applicati	on		
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
01/27/16	Multiple emails re: interim com	pensation order		
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
	To	tal Fees for Profes	sional Services	\$1,590.00
ТО	TAL DUE FOR THIS INVOICE		-	\$1,590.00
BA	LANCE BROUGHT FORWARD			\$3,056.50
ТО	TAL DUE FOR THIS MATTEI	2	-	\$4,646.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 61 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459

Page 12

Client # 746134

Matter # 189916

For services through January 31, 2016 relating to Fee Applications of Others

01/13/16

Review notice of presentment and revisions to order (.1); Emails with Arent

Fox re: same and emails with A. Meislik re: same (.1)

Director

Russell C. Silberglied

0.20 hrs.

750.00

\$150.00

Total Fees for Professional Services

\$150.00

TOTAL DUE FOR THIS INVOICE

BALANCE BROUGHT FORWARD

\$447.90

TOTAL DUE FOR THIS MATTER

\$597.90

\$150.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 62 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 February 11, 2016 Invoice 504459 Page 13 Client # 746134

	Summary of Hours		
	Hours	Rate/Hr	Dollars
Amanda R. Steele	0.50	465.00	232.50
Ann Jerominski	1.80	240.00	432.00
Robert C. Maddox	5.40	510.00	2,754.00
Russell C. Silberglied	3.40	750.00	2,550.00
TOTAL	11.10	\$537.70	5.968.50

TOTAL DUE FOR THIS INVOICE

\$6,118.04

Payment may be made by wire transfer to our account at M&T Bank, Rodney Square North, Wilmington, Delaware 19890, Account No. 2264-1174, ABA No. 022000046. Please indicate on wire transfer the invoice number stated above.

Photocopying and printing are charged at \$0.10 per page. Telephone charges are billed at standard AT&T rates which may not be our cost.

PAYABLE WHEN RENDERED

746134

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 63 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 March 16, 2016 Invoice 506807

Page 2

Client # 746134

Matter # 189916

For services through February 29, 2016 relating to Case Administration

02/29/16

Administrative - organize file folder and email folder

Associate

Robert C. Maddox

0.10 hrs.

510.00

\$51.00

Total Fees for Professional Services

\$51.00

TOTAL DUE FOR THIS INVOICE

BALANCE BROUGHT FORWARD

\$511.20

\$51.00

TOTAL DUE FOR THIS MATTER

\$562.20

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 64 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 March 16, 2016 Invoice 506807

Page 3

Client # 746134

Matter # 189916

For services through February 29, 2016 relating to Automatic Stay/Adequate Protection

02/10/16	Research re: stay relief motiv	on		
Associate	Robert C. Maddox	0.20 hrs.	510.00	\$102.00
02/10/16	Discuss stay relief motion w on same (.1); Discuss Chanc			der
Director	Russell C. Silberglied	0.20 hrs.	750.00	\$150.00
02/10/16	Email from, to G. Utlik and	· · · · · · · · · · · · · · · · · · ·		455 00
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
02/17/16	Instruction to R. Maddox re:	•		
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
02/17/16	Review stay relief order, em R. Maddox re: same	ail from, to L. Indelica	to re: same and ema	il to
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
		Total Fees for Profess	ional Services	\$477.00
TOT	TAL DUE FOR THIS INVOICE	CE		\$477.00
BAI	LANCE BROUGHT FORWA	RD		\$6,071.50
TO	TAL DUE FOR THIS MAT	ΓER		\$6,548.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 65 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 March 16, 2016 Invoice 506807 Page 4

Client # 746134

Matter # 189916

For services through February 29, 2016 relating to Claims Administration

02/01/16 Director	Review emails re: IATA Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
02/03/16 Director	Review numerous emails re: L Russell C. Silberglied	ATA 0.10 hrs.	750.00	\$75.00
02/10/16	Retrieve bar date motion for R	2. Silberglied		
Paralegal	Rebecca V. Speaker	0.10 hrs.	240.00	\$24.00
02/10/16 Director	Review bar date motion Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
	Т	otal Fees for Profes	sional Services	\$249.00
TC	OTAL DUE FOR THIS INVOICE		-	\$249.00
BA	ALANCE BROUGHT FORWARI	D		\$559.50
TO	OTAL DUE FOR THIS MATTE	ER	_	\$808.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 66 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 March 16, 2016 Invoice 506807

Page 5

Client # 746134

Matter # 189916

For services through February 29, 2016 relating to Court Hearings

02/12/16	Emails with G. Utlik re: hea	aring and with L. Indelica	ato re: filings	
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
02/16/16	Prepare for hearing (.6); Emhearing (.1)	nails with G. Utlik and w	ith A. Ordubeguin re:	
Director	Russell C. Silberglied	0.70 hrs.	750.00	\$525.00
02/17/16	Telephonic hearing			
Director	Russell C. Silberglied	0.50 hrs.	750.00	\$375.00
		Total Fees for Profession	onal Services	\$975.00
ТО	ΓAL DUE FOR THIS INVOI	CE	-	\$975.00
BA	LANCE BROUGHT FORWA	ARD		\$1,827.00
TO	TAL DUE FOR THIS MAT	TER	-	\$2,802.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 67 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 March 16, 2016 Invoice 506807

Page 6

Client # 746134

Matter # 189916

For services through February 29, 2016 relating to Litigation/Adversary Proceedings

02/08/16

Email from, to A. Meislik re: 2004

Director

Russell C. Silberglied

0.10 hrs.

750.00

\$75.00

Total Fees for Professional Services

\$75.00

\$75.00

TOTAL DUE FOR THIS INVOICE

BALANCE BROUGHT FORWARD

\$205.50

TOTAL DUE FOR THIS MATTER

\$280.50

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 68 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 March 16, 2016 Invoice 506807 Page 7

Client # 746134

Matter # 189916

For services through February 29, 2016 relating to RLF Fee Applications

02/03/16	Call with L. Indelicato re: fee applied			
Associate	Robert C. Maddox	0.10 hrs.	510.00	\$51.00
02/03/16	Emails with G. Utlik, with L. Indeliapplication	cato and with R.	Maddox re: fee	
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
02/10/16 Associate	Review bill memo Amanda R. Steele	0.10 hrs.	465.00	\$46.50
02/10/16 Paralegal	Review January bill memos Rebecca V. Speaker	0.30 hrs.	240.00	\$72.00
02/10/16 Associate	Attention to bill memo Robert C. Maddox	0.10 hrs.	510.00	\$51.00
02/12/16	Review fee application (.1); Meeting application (.1); Scan and email same			
Paralegal	Rebecca V. Speaker	0.40 hrs.	240.00	\$96.00
02/12/16	Review and compile RLF January for	* *		
Associate	Robert C. Maddox	0.30 hrs.	510.00	\$153.00
02/12/16	Review and finalize RLF monthly for quarterly application with R. Maddo); Discuss same and	
Director	Russell C. Silberglied	0.20 hrs.	750.00	\$150.00
02/18/16	Draft final fee application for Chance (.2)	cery (1.7); Retrie	ve documents re: same	
Associate	Robert C. Maddox	1.90 hrs.	510.00	\$969.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 69 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 March 16, 2016 Invoice 506807

Page 8

Client # 746134

Matter # 189916

02/19/16	Review email re: interim fee ap	plication		
Paralegal	Ann Jerominski	0.10 hrs.	240.00	\$24.00
02/19/16	Revise final Chancery fee moti-	on (.4); Amend fina	al Chancery fee order (.2)	
Associate	Robert C. Maddox	0.60 hrs.	510.00	\$306.00
02/19/16	Revise Chancery fee motion (.3 fee applications (.1); Revise Ch Maddox (.1); Finalize draft of C A. Ordubegian and G. Utlik re:	nancery fee motion Chancery motion (.	and discuss with R.	
Director	Russell C. Silberglied	0.70 hrs.	750.00	\$525.00
02/25/16	Email from, to A. Meislik re: C	hancery fee motion	1	
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
02/25/16	Instruction to R. Maddox re: sa	me		
Director	Russell C. Silberglied	0.10 hrs.	750.00	\$75.00
	То	tal Fees for Profess	ional Services	\$2,668.50
TOT	CAL DUE FOR THIS INVOICE			\$2,668.50
BAI	LANCE BROUGHT FORWARD)		\$4,646.50
TO	TAL DUE FOR THIS MATTE	R		\$7,315.00

15-11951-shl Doc 123-2 Filed 03/25/16 Entered 03/25/16 13:31:40 Exhibit B Pg 70 of 70

Airfasttickets, Inc. Adam Meislik GlassRatner Advisory & Capital Group LLC 19800 MacArthur Boulevard, Suite 820 Irvine CA 92612 March 16, 2016 Invoice 506807 Page 9

Client # 746134

	Summary of Hours		
	Hours	Rate/Hr	Dollars
Amanda R. Steele	0.10	465.00	46.50
Ann Jerominski	0.10	240.00	24.00
Rebecca V. Speaker	0.80	240.00	192.00
Robert C. Maddox	3.30	510.00	1,683.00
Russell C. Silberglied	3.40	750.00	2,550.00
TOTAL	7.70	\$583.83	4.495.50

TOTAL DUE FOR THIS INVOICE

\$4,535.89

Payment may be made by wire transfer to our account at M&T Bank, Rodney Square North, Wilmington, Delaware 19890, Account No. 2264-1174, ABA No. 022000046. Please indicate on wire transfer the invoice number stated above.

Photocopying and printing are charged at \$0.10 per page. Telephone charges are billed at standard AT&T rates which may not be our cost.

PAYABLE WHEN RENDERED

746134